(34 - #E)
(1) y=%x2+2x—5

2) (-13)
(3) WAME3  H/MiE-1

~3-429 ~3+4/29
—_— < < —

(4)
2 2

(5) %<m<1,1<m

(6) 45°=60=135°
(1) 6=120°

8 L

2
(9) @
15

(100 AC=26,R=22

<EA> 11 GEEOA) . 10 AUHATL

<EZikED B>
Yo T()~6B) (2wBEHK) 1 & T(6)~10) (ZMAL) ] OWTnr, EimszRE
OfhE (220, g [ 2k RA. ZFEHFOEHER ] ICREFEERN W
WZBRY F£9)
(D~(B) (2B 2FE L2 ENWEE
6)~(10) (=ft) OFFRBIC X &9 TE S RRGEE [1])
(6)~(10) (=fkh) Z2FEH LI LR 0WGE
(D~6G) (CwBEH) ORI X T TEHEERRGEE [2])

<7 T7AL~YL>

9L E = al~L 78U E — aal,al LUV

5l E — a2 LU 3 LI E — a2a3, a3 LU
MBROKK « £ 77—V - BHER - BHEDS K

7R E — aal 3Ll E — o203

Yo R HLPH DR TILFEIRIL (B HITORE - BEE ORI 23, RENEOHEMRIZE
WCHEIR->TEET, 2B LE LTy 7l OFTEMRTER
Mo TZMEIZONWT Y, o= ey b)) 2O RIEE, IFEL-X
IRFEBITHHITNE ., BMRENR S CTEMTER1o72) ROEHET AR 1548
G L Ta~ad L) & L CWARRIEN R £7, Ziflcbl->Td, 2oz &
HSHAIZB W TR L CWEES Z EaBED LET, TR SITESFR £ CHR
WEDbEL I,

24



